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4. What is the definition of a solution to a linear equation? é) A
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9/7 - Solving Linear Inequalities

What is the definition of a solution to a linear inequality?
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Which of the transformations can be used in solving a linear
inequality while maintaining equivalence?

Transformations:
v~1. Add the same number to both sides
v 2. Subtract the same number fro;gslgﬁt sides
> 3. Multiply both sides by the sa umber
4. Divide both sides by the samenumber
V5. Simplify one or both sides
6. Interchange sides
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Solve and graph the answer on a numberline:
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Solve and graph the answer on a numberline:
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Solve and graph the answer on a numberline:

3-part inequalities are called:
4 < 4x;l% o 16?- --> Conjunctions
+\2 { -+ ‘8 --> "And" statements
<.
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Zl: q G[ at the same time! **
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Solve and graph the answer on a numberline:
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Solve and graph the answer on a numberline:

5-9x<14 or —4x—17>3 Inequalities that have 2 sections
=5 —=in

+ 207 separated by the word "or" are called:
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— g =a "_-4'7 --> "or" statements
\ NS o~ W<=5 \ **Both parts must be worked

separately but graphed together.™
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Solve and graph the answer on a numberline:

2n—3=29%o0r 5—n<4




Homewonk:
page 41
#21-38 all

Due tomorrow




